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Maultiple Choice - S .
Identify the choice that best completes the statement or answers the question. Y T

- state with these two forces. .
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1. (#3-2) A 25N horizontal force northward and a 35N horizontal force southward act concurrently on a 15kg

object on a frictionless surface. What is the magnitude of the objects acceleration?
G 0.67m0/ T el 23 mid
b. 1.7 d 4.0m/s?
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(#3-2) A 20N force due north and a 20N force dus east act concurrently on an object, as shown above. The
additional force necessary to bring the object into a state of equilibrium is

a. 20N Northeast 28
b. 20N southwest 5 d. 28N southw
(#3-2) A 3N force and a 4N force are acting on an object. Which force could not produce an equilibrivm
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a 1N metal disk rests on a index card that is balanced on top of a glass bowl. What is the net force acting on
the metal disk?

a. 1IN - @

b. 2N d 938N

. (#3-1) A carpenter hits a nail with a hammer. Compared to the magnitude of the force the hammer exerts on

the nail, the magnitude of the force the nail exerts on fhe-hammer during contact is
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{#3-3) The block shown above is sliding down an incline, if the angle is increased, the coefficient of (uK/uS)
will 7
a Uk, mcrease ¢. u(static), decrease

{t_) “—GK rémain the same. j d. ufstatic), remain the same

7. (#3-2) Lizzie stands on a scale in an elevator. If the scale on the elevator reads 600N when Lizzie is riding
upward at a constant 4m/s, what is the reading on the scale when the elevator is at rest?

«L£5s then 600 c. maore then 600
b. GI}M d.  zero

8. A 10kg box is sliding down a frictiontess 18° ramp What is the acceleration of the box down the ramp‘?

a  98m/s? . 6.6mlsi, .
b 0.54m/s ) o2 > _SF
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(#3-2) Two masses are hanging on a frictionless pulley (ignore mass of stringy=Tm1 > m2 which of the
following would correctly describe the acceleration?
a=4g (m1 - }
a {m1 + m2) {m1 - m?}
a= -
a1 a=4g {m2-m1i
- (i} 4 g{ )
An elevator c?z:uying a person of mass m is moving upward and slowing down. How does the magnitude F of
the force exerted on the person by the elevator floor compare with the magnitude mg of the gravitational
force?
a F<mg ™ ¢. F>mg
. g d. F can be greater than or less then mg
depending on the speed of the elevator.
12.

The following blocks are located on a block above. The surface is frictionless éccept block A is attached to
the table and can not move. Which of the following formulas represents the tension on the wire. °

#3410 Mgk
- e . e,
Hig My + Mg d Bty < My
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13.

a. Based upon the drawing provided, using only symbols, My, g, uK, and trig functions, derive a formula
expressing the Force of friction.

b. If the block is suspended from a wire parallel to the ramp, holdmg the b} 19 ck on the ramp. Sketch this
version of the block and wire, labeling all the forces. .
B

c. Write out a variable equationjs’oivmg for Fr. B, P
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A block is suspended by two identical wires at an angle seen above. Below you will find two student
hypothesis about the tension on each wire. Justify or nullify any or all parts of each student statement. If
possible, draw a picture of what would accurately describe the student’s hypotheses.

Student A: The tension of the each wire is SOON due 1o the fact that the weight of the block is 1000N.
Dividing the WeIght between each wire gives the force of S0CN per wn-e

TOaL " L £t = aau i Feldnr ! aye T
Student B: The force on each wire equals 1000N due 1o the force of grawty puliey down equally on each

wire. -
Trlat FOB ‘sxf N € Fod Lot {dor wd ot wnté 5;w{ N
Hortonville student: Calculate the force of tensmn N on.each m% dra 206 NI gf &, !é‘a’?é-?f

5 N - ,_.,morm '\E A y
15. $° “X\g 5”{“ ‘ E*K Ml X Mo , et
Py 2 R Vet \ &ia %@ T

\;E W 10kg

Student hypothesis: The force on T, is greater then Ty. Justify or nulhfy this statement
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& y‘ alculate the acceleration of this system
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